


NAME......................................................................................ADM NO...............CLASS...........

TERM 1 MID-TERM EXAM 2011
MATHEMATICS FORM 2
TIME: 2 HRS

INSTRUCTIONS: ANSWER ALL QUESTIONS

1) Given that a = 2, b = 1 and c= 3, find the volume of				(3 mks)

3a2 – 2b2c + 4b
2ac + 2b3 – 3c










2) Solve the simultaneous equation						(3 mks)

3x – 2y = 7
5x + y = 3









3) What is the smallest number that  should be added to 3462 to get a number exactly divisible by 11.									(3 mks)






4)  Find the reciprocal of 0.342. Hence evaluate;					(3 mks)

    0.0625
    0.342











5) Evaluate: 	-8 ÷ 2 + 12 x 9 – 4 x 6						(3 mks)
         56 ÷ 7 x 2










6) A Kenyan tourist left Germany for Kenya through Switzerland. While in Switzerland he bought a watch worth 52 Deutch marks.  Find the volume of the watch in

a) Swiss Francs .									(2 mks)





b) Kenya shillings.								(2 mks)




Use the exchange rates below : 
1 Swiss Franc ; 1.28 Deutch marks
1 Swiss Franc ; 45.21 Kenya shillings 
7) A trader had a bag of beans. When he packed the beans in 6 kg, 8 kg and 9kg packets,  1 kg was left over every time. What is the smallest amount of beans that he had.     (3 mks)

















8) Risper spends 2/3 of her money on magazines, then 3/5 of the remainder on refreshment and has Kshs. 40 left. How much money did she start with?				(4 mks)























9) Solve graphically the simultaneous equations.						(4 mks)

X + 2y = -1
2x – y = 4

















10) The bearing of Kisumu from Thika is 2850. The two towns are 400km apart. Embu is 140km from Thika on a bearing of 0250. Using a suitable scale, find the distance on a straight line between Kisumu and Embu. What is the bearing of Kisumu from Embu?              (4 mks)




















11) The reflection between two quantities F and L is given by the formula F = 4/5 L + 20. The table below shows some values of F against L.

	L
	0
	10

	20
	30
	40
	50
	60
	70
	80
	90
	100
	110
	120

	F
	20
	

	
	
	
	
	
	
	
	
	
	
	


											(2 mks)
a) Complete the table.

b) Using a suitable scale draw the graph of F against L.				(3 mks)

[image: ]
c) Use your graph to find the values of 

i) F when L = 48 									(1 mk)







ii) L when F = 82									(1 mk)








iii) F when L = 108									(1 mk)







iv) L when   F = 66									(1 mk)







v) F when L = 75									(1 mk)







12) Three boats P, Q and R are situated in such a way that boat Q is 450m on a bearing of 1200 from boat P. Boat R is 600m on a bearing of 0300 from boat Q.

a) Draw a sketch showing the position of P, Q and R.				(1 mk)














b) Calculate the distance of boat R from boat P.				(2 mks)
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